- 8000 GeV pp Jets
5T L L N N B B B I L B B
E5 40 — —
§Cg__j B AverageA N, (pT>0.5, central-forward, fj| < 2.1) |
'S m  ATLAS -
g % 30 | O Herwig 7.2.0 default ]
8::% | —&— Pythia 8.170 default |
[ — e ¢ Sherpa 1.4.0 default —
20 — | —
i n ]
10 — 5 —
0 B . - = - u u u - _
I :
10 — : |
N _I Ly ‘I - | | | | | [ | | | ] | | ] ] I_
— | Q \'\ ::' ' ' [ ' ' ' ' [ ' ] ' ' [ ' ' 'E
26| N =
) il -
< - P -
1 | o _
= o
< B Yy _|
e 1 —
i n
"C—G’ - ]
o i i
0.5 _
N N RS R B Lo e L
0 500 1000 1500

Jet P, [GeV]

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


